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The physical and mental health of the mother during
pregnancy is this type of factor that influences the growth
and development of child

1. Hereditary
2. Biological
3. External

4. Intelligence
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The cephalo-caudal direction of development is

A. in longitudinal axis
B. from head to limbs
1. A only

2. B only

3. Aand B

4

. None of the A or B
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Adolescence is

1. from the onset of puberty till the attainment of adult
stage

2. from 12 years to the onset of puberty
3. from 19 years to 30 years

4. from 12 years to 25 years
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Children’s writing development theory was proposed by
1. Hurlock

2. Chomsky
3. Fernald
4. Kroll
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According to Freud, one of the three inter-related systems of
personality, the ‘Ego’ is

1.
2.
3.
4.

hidden in the deep layers of unconscious mind
functions to check the unlawful activities
guided by pleasure — seeking principle

considers only the satisfaction of its needs
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The term “emotional intelligence” was first coined by

1.

2
3.
4

John Mayer and Peter salovey
Daniel Goleman and Piaget

Kohlberg and Goldstein
Piaget and Ferguson
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The first person in developing systematic approach to the
scientific study of individual differences is

1. Bingham

2. Douglas

3. Sir Frances Galton

4. J.P. Guildford
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The thinking about the ‘concept of values’, belongs to this
category.

1. Concrete

2. Abstract

3. Divergent

4. Convergent
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The cognitive impairment as one of the factor of
maladjustment belongs to

1. Individual reasons

2. house-hold reasons

3. school-related reasons
4. society-related reasons
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If there are pros and cons between two or more goals, the
conflict type is

1. Avoidance — Avoidance

2. Approach — Approach

3. Approach — Avoidance

4. Double approach — avoidance
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One of the following is related to Defense-Mechanism
“Regression”

1. Relegating sad things to unconscious mind

2. Selecting alternative field if failed in one field

3. Elder people behaving like children

4. Showing anger on people who are inferior to him
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One of the following is not correct with regard to the
disadvantages of observation method

1. Possibility of lack of objectivity in the observations

2. Possibility of loss of spontaneity in artificial observations
3. Proper training is needed on the part of the observer

4. Observer cannot directly know the observations
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Pick the subjective test, from the following non-projective tests
1. Questionnaire

2. Observation

3. Rating Scales

4. Checklists
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Among the blocks to creativity, “ambiguity and uncertainty”
comes under this category

1. Perceptional blocks

2. Intellectual blocks

3. Cultural blocks

4. Emotional blocks
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One of the following is not the feature of “emotional
intelligence”

1.

2.
3.
4

Knowing one’s emotions
Motivating one self
Recognizing emotions and holding relationships

Prone to anxiety and obsessive thinking
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The “Summative rating scale” by Likert is to assess

1. Aptitude
2. Attitude
3. Interest
4. Level of aspiration
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The number of items in the test of “language usage
- grammar” of DAT (Differential Aptitude Test) is
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3. 60
4 40

“If interest is latent learning, attention becomes interest in
action.” This statement indicating the relationship between
interest and attention is given by

1. Shane
2. McDougall
3. Guilford

4. Stanley Hall
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These are the examples of analogy type problem like
1. Sugar : Sweet : : Lemon :

ii. 15:19::8:12::5:

The type of reasoning that works here to solve these
problems is

1. Conditioned reasoning
2. Categorical reasoning
3. Inductive reasoning

4. Linear reasoning
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According to Hippocrates type approach to personality the
dominant fluid in the ‘Sanguine’ personality type is

1. Phlegm

2. Blood

3. Yellow bile

4. Black bile
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The first step in the process of memory is

1.
2.
3.
4.

Learning
Retention
Recall
Recognition
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One of the following is not correct with regard to elements of
sensation

1.

2.
3.
4

Every type of sensation has got its own special quality
Sensation differs in respect of its intensity
Every sensation lasts for certain time

The clarity is reduced when the sensation lasts for
longer period.
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Encoding is

1. The process of formation of memory traces

2. The process of storing and preserving memory traces

3. The process of reproducing the memory traces into the
original form

4. Memory traces to be in retention
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The theory of “learning by insight” is proposed by

1 Pavlov

2. Skinner

3. Kohler

4. Thorndike
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One of the following pair is not correct

1. Thorndike - Trial and Error theory

2. Pavlov - Operant Conditioning theory
3. Bandura — Social Learning Theory

4. Bruner - Discovery learning theory
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One of the following is not the principle of NCF-2005

1. Simplifying the exams

2 Enriching the curriculum

3. Discouraging the memorization methods

4 Separating the knowledge in the school from the

outside knowledge
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The Educational programme for mild mentally retarded
children is through this method.

1.
2.
3.
4.

Residential School Education
Special Education
Integrated Education

Acceleration
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Non-directive counselling is proposed by

1.
2.
3.
4.

Carl Rogers
Jones
Ruth Strong

Skinner
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One of the following pair is not correct with regard to the

computer unit and its function

1.

Output unit — Provides results after processing

2. Control unit — Prints the information

3. Memory unit — Stores the data

4. Input unit — Provides data to computer
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Freewares meaning

1. Viruses

2. Antiviruses

3 Cyber acts

4. Free softwares
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61.

62.

63.

64.

He turned round and found himself looking at a round faced,
meek looking man who now broke into a smile.

Choose the synonym of the word ‘meek’

1.

2.
3.
4

disobedient

ugly
humble

brave

The teacher’s lenient policy was appreciated by the students.

Select the antonym of ‘lenient’ in the sentence above.

1.

2
3.
4

strict
fair
flexible

tolerant

Choose the definition of ‘set up’.

1.

2.
3.
4

to arrange
to dismantle
to hide

to destroy

Choose the sentence that correctly uses commas for joint
possession:

1.

2.
3.
4

James’ and Sarah’s car is parked outside.
James and Sarah car’s is parked outside.
James and Sarah’s car is parked outside.

Jame’s and Sarah car is parked outside.
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68.

The project was completed
Identify the correct proposition.

1. in light of

2 in addition to

3. in accordance with

4 in back of

We can invite nine people.

Choose the option that fits the blank.

l. up to

2 against
3. upon

4 between

Identify the true statement about the present perfect continuous

the deadline.

tense.

1. It is used to describe actions that are ongoing and
unfinished.

2. It is used to describe actions that happened at a specific

time in the past.

3. It is used to describe actions that happened in the past

but are relevant to the present.

4. It is used to describe actions that started in the past and

are still continuing

One of the following sentences is not in the Present Perfect

tense:

1. She has travelled to Japan

They have been working on this project

2
3. I have lost my dictionary
4

He has eaten lunch
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71.

72.

Alphabetical ordering contributes to the organization of a
dictionary .......

Choose the option to complete the sentence.

1.
2.
3.

by grouping words based on their meanings
by providing a random arrangement of entries.

by offering a systematic way to arrange a large number
of words.

by arranging words according to their popularity

Identify the sentence that indicates emotion.

1.

2.
3.
4

I can’t believe we won the match.
Can you help me with my homework?
Water is essential for life.

Please open the window.

Identify the grammatically correct sentence:

1.

2
3.
4

She could not decide among the two shirts.
She could not decide between the two shirts.
She could not decide during the shirts.

She could not decide between the shirts.

Identify the sentence that asks a question.

1.

2.
3.
4

Please be on time
Close the door quietly
This is amazing

How did you solve the puzzle
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74.

75.

76.

They had a great time at the concert.
looking forward to the next event.

Choose the option that fits the blank.

1.

2.
3.
4

I

Despite.
Therefore
Nevertheless
Yet

be working on the project all day.

, they are

Choose the modal verb used to express an ongoing action.

1.

2
3.
4

must
should
might

can

For sentences using ‘either ... or’ and neither ... nor’ the verb
should agree with the noun or pronoun that comes

1t.

1
2.
3.
4

after
before
beside

around

If you eat fast food every day, you get sick.

Choose the type of conditional sentence used.

1.

2
3.
4

Zero conditional
First conditional
Second conditional

Third conditional
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79.

80.

Choose the correct prefix to complete the word in the
sentence:

The company had to produce the goods to meet the
quality standards.

l. re -

2. un -

3. dis -

4 pre -

Choose the idiom that means “to do something without
preparation”.

1. to fly by the seat of one’s pants
2 to keep one’s fingers crossed.
3. to hit the sack.

4 to spill the beans.

Choose the adverb that best fits in the sentence.

She sings at the concert, captivating every one in
the audience.

1. happy

2. red

3. loudly

4 choir

Choose the correct adjective to fill the blank.

The book on the shelf belongs to Lisa.
1 interesting

2 run

3. swimming

4 loudly
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82.

83.

&4.

Identify the correct passive voice form of the sentence.
They have completed the project.

1.

2.
3.
4

The project had been completed by them.
The project will be completed by them.
The project has been completed by them.
The project is completed by them.

Choose the one word substitute for the phrase:

“a person who studies the stars and the planets.”

1
2.
3.
4

Astronomer
Biologist
Geologist
Psychologist

The following should be written at the end of a dairy entry:

1.

2.
3.
4

leave it open-ended
add a list of future -goals.
attach a to-do list for tomorrow

write a conclusion or summary of your feelings and
thoughts

Identify the element that is important to include in the speech
script to keep the audience engaged:

1.

2.
3.
4

technical jargon and complex language.
personal anecdotes and relevant examples.
detailed descriptions of unrelated topics.

a lengthy list of statistics.



85.

86.

87.

88.

Identify the correct use of the definite article before a
superlative adjective if the adjective qualifies a noun directly
or it is followed by of

1.

2.
3.
4

Sita is in the garden.
The elephant is ferocious.
Sita is the shortest girl in the class.

The man is on the tree.

Select the correct indirect form of the sentence:

He said, “It may rain”.

1.

2.
3.
4

He said that it might rain.
He said that it may not rain.
He told that it might rain.
He told that it will rain.

Choose the sentence that correctly converts the simple
sentence into a complex sentence:

“Despite several obstacles, Sarah made it to the end.”

1.

Sarah made it to the end because there were several
obstacles.

Although there were several obstacles, Sarah made it to
the end.

Sarah made it to end even but there were several
obstacles.

Sarah made it to the end, and there were many
obstacles.

Choose the correct spelling of the word.

l.

2.
3.
4

enthusieastic
enthusastic
enthusiastic

enthuseastic



89.

90.

Read the following passage

Sanitation and hygiene issues affect many communities in
India, particularly in underserved areas. Inadequate sanitation
facilities and poor waste management contribute to health
problems and environmental degradation. Government
programmes and community initiatives work to improve
sanitation infrastructure, but comprehensive solutions require
ongoing effort and investment.

Identify the consequence of inadequate sanitation facilities:
1. improved health

2 health problems and environmental degradation.

3. environmental conservation
4

enhanced waste management.

Read the following passage

Sanitation and hygiene issues affect many communities in
India, particularly in underserved areas. Inadequate sanitation
facilities and poor waste management contribute to health
problems and environmental degradation. Government
programmes and community initiatives work to improve
sanitation infrastructure, but comprehensive solutions require
ongoing effort and investment.

Comprehensive solutions to sustain issues require
effort and investment.

1. ongoing
2 short term
3. minimal
4 sporadic



91.

92.

(-5,7) (-4, -5), (-1, —6) and (4,5) are the vertices of a
quadrilateral. Then area of quadrilateral is (in square units)

(=5.7) (=4, =5), (=1, ~6) 065 (4,5)00 Syes Boen.
©00d Sz FTego (S5 BHrIgS”)

. 68
2. 70
3. 72
4. 74

ABCD is a trapezium AB//CD, AC and BD are diagonals
intersect at O. If OA=5cm, OC=10cm then ]())_}Cg) =

ABCD 2.5 (8280%0. AB//CD, AC $:805»

BD 50 90&S Doty 0. 0A=520.00, 0C=1020.20
DO _

OB

1 1:2
2. 2:1
3. 1:3
4 3:1

900



93.

94.

95.

If a = Sum of integers between —3 and 4
b = Product of integers between —3 and 4, then identify the
FALSE statement in the below
a="3 000w 4 &g Ko J°F DoPgw InGo
b=—3 3065w 4 5)&55 () Zgyg ‘(60@5@ ©QO 900D
808 T3S° ey (PITH0
1. atb=a-b
2. b+ta=b-a

a+b
a

3. 1

4. a><b:E
a

For any non-zero integers ‘a’ and ‘b’ and whole numbers ‘m’
and ‘n’. which of the following is not true.

‘A’ 508350 ‘b’ew IJI° %503§e5c5 g Dopgen, m’ S8
‘Mo PToSPS & (08 TIS° $PSH 6.
1. a™ xb™ = (ab)"

2 m n m—n

5 )
4, a’ =1

“Cartesian system” was initially developed by
1 Euclid
2 Rene Descartes
3. Pythagoras
4. Thales
“SHRANS SESR"A IS @DHID BHS
€ @ (o)

oord&E

™
O &5°Q

e

Flaitets

38

= @ =



96.

97.

While drawing a lessthen frequency distribution curve we take
the following on X-axis

1.
2.
3.
4.

Upper boundaries of class intervals
Lower boundaries of class intervals
Mid values of class intervals

Cumulative class intervals

2.5 e38%5e3 HoDeS ESOMENS AcSwsHE 53 ($od
FAS° BAD X-0950 P Aomoerin.

= @b =

BEREIL AHS T
SRS BKS :PCSOJQJJ
STRSOO ;53655 RISONIGY
QDO STKHEW

If cost price of an article is 75% of selling price then profit
percentage is

28 509 §F) 30, T 0y 308 75% 95008 g 3¢50

1.

2.

25

291
3

33l
3



98.

99.

100.

If two dice are rolled simultaneously, then the probability that
the difference of two numbers appearing on the top of dice
is 2.

B0 rDEe0 2330 F'QONTYE & ok FITOD 50203
oPge 23650 2 X365 Ko NI

1.

[S—

. L
2
3.0 L
4
4. 2
9

If AP and AQ are two tangents of a circle with centre O.
So that ZPOQ=110"then ZPAO =

O Solgor Ko $5)3708 AP 50005 AQ & Bk B)SOpeo.
ZPOQ=110" @008 ~PAO =

1. 70°
2. 80°
3. 35°
4. 40°

30 workers can do a work in 12 hours. Then the number of
workers required to do the same work in 9 hours is

30 5508 5rden 2.5 ¥ Yrd VoS 12 Koere HSoo
DEE08. @8 DAV 9 KoeroS® HrE B TPEOVS
g&edex.

1 35
2. 38
3. 40
4 45



101.

102.

The length of QM in the adjacent
figure if PR=8cm, QR=4cm, PL=5cm
is (in cm)

8 B0 S0 PR=8 0.2, QR=4
0.2, PL=520.25 @ons QM
P&y = (0.2 o)

1. 5
2. 2
3. 4.5
4. 2.5

If the length of a cuboid is increased by 20% breadth is
increased by 5%, but height is decreased by 20% then

change in the volume

1. Increases by 0.8%
2. Decreases by 0.8%
3. Increases by 8%

4. Decreases by 8%

28 ag;»:so FEY 20% DOD, IE0YH 5% 0D, I
SPG0 20% SRODS PHIH0Ire0” SFY) Sr8)

1. 0.8% DK
0.8% S50
8% DB

> w DN

8% SKI




103.

104.

If 5 pencils and 7 pens together cost I 50 whereas 7 pencils
and 5 pens of same type together cost ¥ 46, then the cost of
one pencil and that of one pen (in Rs)

1. Cost of a pencil =% 3; Costofapen =% 5
2. Cost of a pencil =% 5; Cost of a pen =% 3
3. Cost of a pencil =% 3; Cost of a pen =% 4
4. Cost of a pencil =% 4; Cost of a pen =% 3

5 YY) DO 7 Sosne 30080 Fo B0, @i 7 )Y
BN 5 Eomne Ingo Jo (U36%0) 46 wons 2.8 NS
58050 2.8 Somn BE) Jo. (Errones’)

Lo 25 &8 =3 3; Sosm §8 =35
2. 6 &8 =3 5; 5050 55 =3 3
3. 0 68 =3 3; Sosn §8 =3 4
4. N6 &8 =% 4; 5050 55 =3 3

In the step deviation method of finding the Mean for a grouped

we use the formulae x=a+ {zfi'#i j Here u, =

W

FIS 0T HEBS” SHEYS SFTOFINIH ©0EHH0

EHRSHSHE x=a+ {Mjw@mm ISR,

>
8 E W =
1 X, —a
' h
) x; +a
’ h
3 X —a



105.

106.

107.

Sum of the coefficients of the expression 1+x+x” is

BSOS [+x+x’ S Koeasre weso
2

1

2 3
3. 4
4 1

A cylindrical shaped water tank with height 1.4m and radius
0.7m is half filled with water. The capacity of water present in
the tank in litres.

8 1.4 . F§rgo 0.7 . 5O 2.8 AT S i)e?)wago§3
VK0 DBS® 0D2E0D. @onS es D3 SIS INCIA G 58
BOSTEI0 @eages‘s

1 1.078
2 1078
3. 10.78
4 107.8

Number of two-digit numbers divisible by 3.
3 3 R0 BoEoSe Hopgen AR)?

l. 20
2. 40
3. 50
4. 30



108.

109.

110.

If two different coins tossed simultaneously then the
probability of getting atleast one head is

DO DI BSOS 2B NOSIDS EDH0 2.8 750y
o°S55ed8 Ko éoar’:sagé

1 0
2 0.5
3. 0.75
4 1

A pole height 25m makes an angle of elevation of 45° with
sun. Then the length of its shadow in meters is

25 i IEKL 2.8 HouIo JthgIS® TR etk Ees0 45°.
©ond & Yoo A& FEY e

1 25
2 12.5
3. 50
4. 375

IfA={a b ¢, d},B={c d e f g} thenn (A - (A —-B))
A={a b c, d},B={c d e f, g}®on3 n(A—- (A-B))

S N B~ O

1
2.
3.
4



111.

112.

113.

If sec 0+tan 0 =35, 0<0<90"then the value of tan 0 —sec is

secO+tan =5, 0<0<90°900 tan O —secH e .....

L L

5
2. s
3.0 L
5

4. 5

Identify the rational number among the following
53 (208 FAS° 553D Doy

L V2+43)V2-3)

2. T
1
43
4. log,, 100

PQR is a triangle right angled at P and M is a point on QR
such that PM L QR. Then PM’=

PQR 0025 (@20208" P58 0ow8’s0 o,
PM L QR &850 QR M 2.8 Doty wond PM’=

1.  QM’+MR’
2. QMMR
3. QM’-MR’
4.  PQ.QM



114.  Which of the following are collinear points?

115.

116.

1.
2.
3.
4.

(3,0),(2,0)and (3, 2)
(0, 2), (3,0)and (2, 3)
(0, 2), (0, 3) and (2, 3)
(3,2),(3,3)and (3, 0)

808 7e38° ¥BPaDH DochHen ID?

1.
2.
3.
4,

(3,0), (2, 0) o803 (3, 2)
(0, 2), (3, 0) o8 (2, 3)
(0, 2), (0, 3) o8 (2, 3)
(3,2),(3,3) 080 (3, 0)

Number of parts in the Book ‘Elements’
R0y & (fogos® erme Bovs

1.
2.
3.
4.

12
10
15
13

One of the following is not a characteristic of ‘Learning
objectives’.

1.

2.
3.
4

Should be teacher centered
Must be in detailed and understandable
Evidence of learning should be easily accessible

The learner’s performance should be observable
through observation.

808 TUS° ‘@S oFtge’ 0§E0 SO

1.
2.
3.

&5 SoBF)Bo &oaed.

DASEOT, @STTSS’ 578 &0&d.

ZIFOS e PO WLOJ Foder &oad.

27RO DO ALYES HOBOS G0 HOBOOIEASH &oawd.



117. ‘The learner identifies the possible consequences of tossing
coins.’ This relates to the following academic standard

1. Connection

2 Problem-solving
3. Communication
4 Reasoning-Proof

WD, TETOM DHOBIVSHPE b"digssodsng
DEGIF O KHBIE’ &IO Bs 808 ITyDd=res0

1. €I 0VOGFCS0

2. 26;53265 JES
3. 355_@66735650
4. TR0 TDYE0, AEFHese0 Ao

118. A book, ‘The School Master’s Assistant’ is

a) Written by Thomas Dil Worth
b) First text book
c) Released in 1897

1. (a) and (c) are correct
2. (a), (b) and (c) are correct
3. (a) and (b) are correct

4. Only (b) is correct
‘The School Master’s Assistant’ &3 )50

a) R &S 38 B EDoSedod
b)) SRl FEEHHE0

c)  18978° D&oise 90008

1. (a) o8 (€) @0 FPYTen

(a), (b) 55805 (c) &0 TR
(a) 308030 (b) @0 FPHF°ew

(b) S| RS0

Ll e



119.

120.

One of the following is not a limitation of ‘Essay type tests’
1. Low validity

2. Least Reliable

3. Creates Anger and Effort

4. Discourages Byhearting

808 TS’ ‘gtz DKL’ HOWS TS

1. @@O) “6@;53%995
2. ©0) :Dggnﬁ)osoé
3. DD, (0 5P

4, Eosae ?oag 90T FPO0E0

Properties of ‘Analytic Method’
1) Scientific

i) Creative

ii1)  Self-distrustful

iv)  Psychological

Ve DEY’ KoeTen

i) av@ojo;)_oasa

i) QJEIS SRS

i) jOH-wDIN 50

iv) S’ Jepdso

1 i, 11, iii
2 i, 1ii , 1
3. 1, i, 1v
4

1, 111, iv



121. The area under the graph between two quantities is given in the
unit ‘metre’, the quantities are

1. Acceleration and time

2. Distance and velocity

3. Velocity and time

4. Acceleration and distance

B> OO &g e Adkre, ol Ferego Book), (9S50
0 I SR, &8 e

1. eﬁosds*ao 0833 *e0
B850 50835 KO
K0 o83 @0

L

eﬁosds*ao 08 B0

122. The force needed to produce an acceleration of 100m/s’
in a body of mass 25g is
25 (in @5355(?% Ko 2.8 S0 100m/ s* 95568’30 PO
(WBACTIOVS 2200

1. 2500N
2. 4N
3. 1N

4



123.

An echo is returned in 2 s. If the speed of sound is 340 m/s,
then the distance between source of sound and reflecting body
is

l. 170 m
2. 340 m
3. 680 m
4. 0

¥20 &EY @00 2 i oS (PAEA ISE8B. G IKo
340 /%> 0008 FRESTAS HOAH DOSYS SIS 545
&5°80

1. 170 ou
2 340 o
3. 680 o
4. 0

124. When the eye is focused on an object very far away, the focal

length of the eye lens is

1. maximum

2. minimum

3. half of its maximum focal length

4. double of its minimum focal length

Eo8S® oSS’ &) SIS0 TSP, 508 Ee¥o
B0E), meﬁgoééo

1. ?ﬁago
§§0§}o

RoR 5°2§§Oe§6065£ “Ko

L

SO\ 5°25§Oe56°23§ 8@0@



125. The specific resistance of the wire depends on

1. Length of the wire

2. radius of the wire
3. material of the wire
4. area of cross section of the wire

K &Y. I8 IS0 esEaed wodo
1. &K P&

2 8K grgo

3. AKX B0y oo

4. OK RS FTego

126. The shape of the magnetic field lines formed by a circular wire
through which current flows is

1. Circular
2. Parabolic
3. Straight

4. Elliptical
DS (DITROF) HTEE AKD NG 9HI) 08 2eBpo

SRy

1. SyFs°C0

2. DO°SOA00

3. D8Oy

4.  8Y Sysso



127. Mismatched pair among the following

1. Red planet - Mercury
2. Morning star - Venus
3. Outer planet - Neptune
4. Inner planet - Earth

808 AS® 185 23¢8

1 HHET0 - 200D
2. &EODSE - HEE
3. wImESo - ILgS
4. QOBBKT0 - ARLMD

128. Freezing mixture
1. Ice + Copper Sulphate
2. Ice + Sodium sulphate
3 Ice + Cobalt chloride
4. Ice + Sodium chloride

2ALSS WFS00

1. 00 + 5996 négeﬁ
300 + FEAH0 béﬁg@g
50 + S §BE
$0% + Féao §BE

Sl



129.

130.

Poly atomic molecule from the following

1. Oxygen

2. Argon

3. Phosphorus

4. Sulphur

ela) TS TR0 DESTENE @ED)
1. eaé(\)&s

2. ejg\"s

3. FR)D

4. é@o)g

The plastic used to make floor tiles and kitchenware
PVC
Bakelite
PET
Melamine
688, Sots FIrR SArbS &RBoRod IRE

Yy H w N =

3

2.2.2
235865
2.3.83.

!—.\

W N

O



131. The most accurate way of showing acid, base neutralization

reaction

1. Acid + base — salt + Hydrogen

2. Acid + base — Salt + Hydrogen monoxide
3. Acid + base — Neutral solution

4. Acid + base — Acid base solution

€935, 8 SerD55es 756553 VDIPVO0 DB A0
[SP B @ a

1. 3390 + P50 —» 0330 + T (E%8R
™ [98) a—

2. em0 +500 - 0S80 +RE RS ITEE
™ [98 a—

3. e3:300 + 5280 — B ((°5€30
[sp] Q @

4. e3:300 + 5200 —> e85 50 (T°5€30
™ Q ™M

132. In galvanization this metal is coated on corroded metal

1. Gold

2. Zinc

3. Silver

4. Copper

regAses (HEaS” Be §°:55) §oo 08 o PR
1. 20150

2. 20§

3. J0é

4. o°R



133. The base of ecological pyramid occupies by

1. Primary consumers

2. Secondary consumers
3. Producers

4. Tertiary consumers

B 55es DEWE DK esEWoBY
L SRS ISBrRTHen

BB ISR
&B)BTH

WD

953@053 ARSI

134. The fresh water organism

1. Macrobrochium rosenbergi
2. Peneaus monodon

3. Mackerel

4. pamphret

808 AS° 5503 &

L SEerdcho S ed
2. 20508 IrStes

3. 573565

4. JoBm&



135

136.

The nerve cell staining “Black reaction” method was
developed by

1. Louis Pasteur

2. Robert Brown

3. Robert Coach

4. Camello Golgi

T EEeTOS) 502350 B “aggg BATES” ATTRY
@@5&@?&6&5 Iilob)

1. ww%b%g

2. od@S

(M)

3. U°za§§6»5
4. S2EmY

The bacterium “Bacillus anthracis” is discovered by

1. Alexander Flemming
2. Leeuwenhoek
3. Louis Pasteur

4. Robert Koch

(13

eTPRYR BOFERR” erSBaITR K8ODS T
1. @BN;OC%S_’&.%EDJ&OK

2 HISFE

3. 00D 5‘7%35

4 U°zo§ &5



137.

138.

The activities prohibited in protected area are

A)
C)
1.

Bowo

Plantation B)
Cutting trees D)
A,Band C

Cand D

B and D

A,B,Cand D

538 (oo JapoTag S

A)
©)
1.

ol

Find the correct pair of micronutrients

A) Sulphur B)
O Manganese D)
1. Band C

2. A and D

3. B and D

4. Aand C

‘éré&ii%?@ DOTS BB K800,
A)  Ko&so B)
C)  SroXdD D)
1. B 508a3w C

2. A 308350 D

3. B 508a30 D

4. A 08350 C

0T 00 IO B)
DO STEEO D)
A, B 3085w C

C 358a50 D

B 080 D

A, B, C38a5» D

Grazing

Poaching

DO IoB&o
650

Copper
Magnesium

O°A
Bofbixoﬁoo



139. Match the following

140.

A)
B)
C)
D)

Pantothenic acid
Phylloquinone
Pyredoxine
Riboflavin

808 S s8H8S0k

A)
B)
C)
D)

1
2.
3.
4

The alkaloid used as a sedative is

1.
2.
3.
4.

0¢80T EREPA0E vy erans

1.

L

FoS"RIE esx0
?96’52 §°S(365_
20830

9238'5(@9535

A-ii, B-iii, C-1, D-iv
A-iii, B-iv, C-ii, D-1
A-iii, B-ii, C-1, D-iv
A-ii, B-1, C-iv, D-iii

Morphine
Pyrethroid
Caffeine

Scopolamine

;55@35

Yol (e tV)
£

) FODS

Glossitis
Anemia
Burning feet

Blood clotting

a1
3¢

24

e
™

f

23@)

o}t

b

T Za?b%%‘)
880 K& Bexko
-0 Co e



141.

142.

Find the incorrect statement

1.
2.
3.
4.

Auxins controls differentiation of shoot and root
Abscisic acid promotes seed dormancy
Cytokinins involves in closing of stomata

Gibberellins controls development of fruit

RBS F°57gR) K>80506.

1.

2
3.
4

53190 SPOL0, I IBVET K AALOB0H
©DPE &30 ISTO WRITHSO (P00
PE TS HEBo(Erws HIPHE S PS8
22088 Do @2‘1);5;)@65”5 TS,

Assertion (A):  The testes are located outside the abdominal

cavity in the scrotum

Reason (R): Sperm production requires a temperature 2°C

1
2.
3

4,

higher than the normal body temperature
A is correct, R is incorrect
A is incorrect, R is correct
A and R both are correct; R is not correct explanation of A

A and R both are correct; R is correct explanation of A

B5OS (A): S0 &EEHTPTIS Jeode S0y Aenod”

&OEIP0N.

880 (R):  H(ETeTen &S T erdes 08 e 508

2°C 00% &Y HS esds0.
A ééago , R @269550
A @269550 , R 2()9550
A 30805 RD&7g8; R, A 8 8BS 38ed s7ehH
A 30805 RBocr ve§8; R, A8 938 558



143.  When a pure tall plant (TT) crossed with a pure dwarf plant
(tt), the phenotypic ratio of F1 generation

28 DFd FEY 08, (TT) D HF=d FQ o8, (1) &
0058E0 B[S )8 F1 S0 I8y o By, SyFgers ING,
1 3:1

2. 2:2

3. 4:0

4 1:3

144. The chemicals used to disinfect the sewage water are

A)  Chlorine

B) Ozone

O Bromine

D)  Methane

1. A and B

2. Cand D

3. Band C

4. Aand D

S005K0¢3 (TS0 VA5 I SLT

A) g8

B) &8°%

C) &S

D) 2@~

1. A S08a50 B
C08acs» D
B S08a50 C

> w b

A 3850 D



145.

146.

The ideal method for teaching the lesson “Molecular structure
- Discoveries” is

1. Lecture method

2. Lecture cum demonstration method
3. Laboratory method

4. Historic method

“BESTeER 3@&8’30-@3%68’3@3” 5“@50%’;533:63 5200358
9 0RS DD
=TS
1. é‘oﬁa"gé ZJCQS@
é‘;m‘g:(: @CSC?Q:S ‘JJCQSe‘B

BBTRTe DS
(o]

Sl

TOIEE HED

Rani demonstrated an experiment she had learned to her
friends. According to Cobun the percentage of memorized
experiment by Rani is

o°Ed S0 SWHR) PBPY) S5 oo Ty 3D
Sr00NSH. BonS S (HST0 078 & (HRTY 2EHE0
&GOS KORS S0

1 30%
2 50%
3. 70%
4 90%



147.

148.

“Give examples of sliding friction” this question comes under
this academic standard
1. Understanding

2. Asking questions — making hypothesis

3. Collecting information — project works

4. Concern to biodiversity — applications to daily life
“EUed TR 0% VOSTON GEITERdN0s” S (9
B8 TG D778 BoHeoh.

1. JAASTSTTS

(HB)oiscEo - HBZYSen BALEo

DSPerS DECE FYETies - (B B

W N

LSPGO D DYPSS0 - ISgEIS K0

“Behaviour objectives are expressed in the form of specific
behaviour expected from the student after completion of a
unit”. This was stated by

1. Benjamin S. Bloom

2. William D. Romey

3. Carter V. Good

4. Richard White field

“28 A5 DBODVT SIS oY 08 e330DS AYFRS
(BSGT E7008° Sg¥0 DaHadSS oy oFges” @ eR)d

1. BozzS V. a:;;i)

2. OG0 &. 5%
3. s¢6d. K&
4. 8363555

Co Co



149. First aid that should be given, if alkali gets into the throat
while using instruments such as pipettes in the laboratory

150.

1.

2.
3.
4

Vomiting should be encouraged.
Let drink lemon juice after drinking a lot of water.
Let drink milk of magnesia after drinking a lot of water.

Let drink one table spoon of mustard oil in a glass of
water.

PErETeS” B)ey 508 VOETOD EDBTACTEIPE
Foreo Ko™ Ponseond IansedS (HEH D)

1.
2.
3.

T08 JWESEAY (FPSyroTd,
LYS A SRS BSOS IS0 B0 SROTO.

DEYS A SRODT SoS &) s ofhadHo
SPROTE).

2.8 TR0 ABS” 28 Bed 1S e33R I
SPROTE).

This is not a formative assessment tool in CCE method

1.
2.
3.
4.

Slip test
Project works
Field trip

Children’s participation — Responses

CCE 2or508° Do°YETE S DIOGOES JEF0 SO

1.

e N

R oaég

DB DSen
5]

EG $EgeS

?og;)@ 25"?(3*’0335350 - @@éojocséen



